	Questions 9 - 14 refer to the Single Payment Factor which is given in Appendix C of the textbook.

Questions 21 - 23 refer to problem 3-33 of the textbook.

Questions 24 - 26 refer to problem 3-65 of the textbook.

	1. Tom borrows $ 6000 for 5 five at 8% interest compounded annually.   He repays the loan in a single payment at the end of the 5 year period.   How much is his payment? (Points : 1) 
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	2. Tom borrows $ 6000 for 5 years at 8 %  per year simple interest.   He repays the loan with  a single payment at the end of the 5 years.   The value of the payment is most nearly (Points : 1) 
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	3. The interest rate is 10 % compounded annually.     Ten thousand dollars 3 years from today is equivalent to  a value today that is most nearly (Points : 1) 
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	4. Gloria borrows $ 3,000 for three years at 6 % simple interest per year.   She pays the principle and interest in a single payment at the end of three years.    The amount of interest ($)  Gloria pays is most nearly (Points : 1) 
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	5. Gloria borrows $ 3,000 for three years at 6 %  interest per year, compounded annually.   She pays the principle and interest in a single payment at the end of three years.    The amount of interest ($)  Gloria pays is most nearly (Points : 1) 
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	6. Harry  borrows $ 10,000 for ten years at 12 % interest.     He pays the principle and interest at the end of the ten years.  His total payment ($) at the end of ten years is most nearly (Points : 1) 
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	7. Harry  borrows $ 10,000 for ten years at 12 % interest, compounded every six  months.     He pays the principle and interest at the end of the ten years.  His total payment ($) at the end of ten years is most nearly (Points : 1) 
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	8. Harry  borrows $ 10,000 for ten years at 12 % interest, compounded every three months (quarterly).     He pays the principle and interest at the end of the ten years.  His total payment ($) at the end of ten years is most nearly (Points : 1) 
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	9. Using single payment factors what present sum is equivalent to the payment at the end of year 1? (Points : 1) 



	      [image: image33.wmf] $671
      [image: image34.wmf] $792
      [image: image35.wmf] $ 932
      [image: image36.wmf] $1091.
      [image: image37.wmf] $1273



	10. Using single payment factors what present sum is equivalent to the payment at the end of year 2? (Points : 1) 
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	11. Using single payment factors what present sum is equivalent to the payment at the end of year 3? (Points : 1) 
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	12. Using single payment factors what present sum is equivalent to the payment at the end of year 4? (Points : 1) 
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	13. Using single payment factors what present sum is equivalent to the payment at the end of year 5? (Points : 1) 



	      [image: image53.wmf] $671
      [image: image54.wmf] $792.
      [image: image55.wmf] $932.
      [image: image56.wmf] $1091.
      [image: image57.wmf] $1273



	14. Using single payment factors, what present sum is equivalent to the series of payments at a 10% interest rate? (Points : 1) 
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	15. 
The value of (F/P, 6%, 6) is most nearly
(Points : 1) 
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	16. 
The value of (P/F, 4%, 9) is most nearly
(Points : 1) 
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	17. 
The value of (F/P,11%,10) is most nearly

(Points : 1) 
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	18. The interest rate is 7%. 

                                     $ 4,000
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The value of P ($)  is most nearly

(Points : 1) 
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	19. Interest rate = 9 %. 

$ 2,000
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                                   Q
The value of Q ($) is most nearly
(Points : 1) 
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	20. The interest rate is 10 %.    I deposit $ 100 today.    One year from today I deposit $ 200.   How much will I have ($)  four years from today? (Points : 1) 
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	21. At the end of two years, what will be the balance in the local bank? (Points : 1) 
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	22. At the end of two years, what will be the balance in the out of town bank? (Points : 1) 
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	23. How much additional interest will be earned by using the out of town bank? (Points : 1) 
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	24. How much is the lump sum payment that Marty owes under the original contract? (Points : 1) 



	      [image: image100.wmf] $371.
      [image: image101.wmf] $385.
      [image: image102.wmf] $394.
      [image: image103.wmf] $423.



	25. How much is the alternate payment proposed? (Points : 1) 
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	26. Which alternative should be selected? (Points : 1) 
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	27. Consider the following Cash Flow Table 

Year       Cash Flow

0               -1,000
1                0
2                0
3               - W
4                0
5                0
6          + $ 4,000

Interest rate is 8%.   The value ($) of W is most nearly

(Points : 1) 
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	28.  P = $ 4,000     i = 10 %        n = 5          The value of F ($)  is most nearly (Points : 1) 
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	29. P = $ 2,000      F = $ 2,800        n =  6         i (%)  is most nearly            (Points : 1) 
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